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Irkx) Electrical Measurements
s 3 Max. Marks:100
m MNote : Answer any FIVE full guestions.
irkeny a Dere the dmensions of MMF, EMF, Magnetizing force and flux density in LMT system.
rles) {08 Marks)
r h Sew that the product L has the dimension of velocity, when p = permeahility and
< e
g & = permtivily. (08 Marks)
e £ Sor and cxplain sensitivity of Wheatstone Bridge. (04 Marks)
' A&  The fowr arms of a bridge are:
Amm AB: an anperiect capacitor Cy with an equivalent series resistance of r);
i Arwm BC: 2 poo-inductive resistance Ra; Arm CD: a non-inductive resistance By,
Ans DA an mnperfect capacitor O with an cquivalent serics resistance of 1z in series with a
mcmakarr F-.
P A smppby of 420 Mz is given in between terminal A and C and the detector is connected
k bcmmccs B sod [, At bobonce B, — 4.8 L3 B, — 200 LY, By — 2850 {3 O, — 5 b, e = 0.3 L3
Cullculete: e vabue of Cy and ry and also of the dissipating factor of this capacitor. (10 Marks)
b Wk » sew sketch describe the measurement of carth resistance by fall of potential method,
b {10 Marks)
kh a Explem tee parpose of shiclding of bridges. Describe with sketch Wagner's ground connection
for sharidess of bridges. (08 Marks}
h’ of b Obow o balance cquation for Schering Bridge vsed for measurement of capacitance. Derive
rﬂl e expression for boss angle and dissipation factor, {05 Marks)
a1 e Expiwm the prisciple of range calcisive of armsicr, (04 MIArks)
::" & Explam e construction and working principle of Potential Transformer (PT). Mention its
priz) applcaion. (05 Marks)
L kA omrom mansiormer with five primary turns has a secondary burden consisting o a resistance
of 16 2 and an inductive reactance of 0.12 £ When the primary current is 200 A, the
mamerTrme currenl s L5 A and the iron loss current is 0.4 AL Find the number of secondary
wrzs aeeded 1o make the current ratio 100.]1 and the phase angle {08 Marks)
H €  Explass the cauces of ratio and phase angle errors. {04 Marks)
i a Wah 2 acat sketch describe single-phase indoction type energy meter. {08 Marks)
J b Déscoss the adjustment required in encrgy meter for accurate reading, {06 Marks)
- € A 230 wod single phase, wan hour meter has a constant load of 5 Ampere passing through it
for & bhours at 0.9 p.f. If the meter disc makes 4968 revelutions during this period, find the
meser constant in the revolutions per kilowatt-hour. Calculate the power factor of the load if
haurks) e =enber of revolutions made are 210, when operating at 230 volt and 6 Ampere for 5
Barks) loowrs. (06 Marks)
& "Wath a peal sketch describe true M5 responding volimeter, (08 Marks)
b Wk a next block diagram, explain the working of a digital storage oscilloscope. (08 Marks)
. Exphwe the significance of Lissajous patiern. {04 Marks)
& Expbim wih a neat sketch the construction and working of a linear varishle differential
mrcionper, (08 Marks)
B Wah 2 scat sketch, explain the working of a X-Y recorder. (06 Marks)
& Explam the advantage of efecincal transducer. Also describe the classification of transducer.
) [ "'"Iﬂ)“"ff.'-' e
Wi short motes on the following: A
—— Law prewcr Gclor waltmeter b. Objective of DATA Acquisition systcm E
& LD diespiary d, Strain gauges. (20 plarks)




